Quiz 1

Math 34 (Calc IT), Spring 2013

Consider the region bounded by y = 3cosz and the z and y axes, for
0 <z < 7/2. When revolved around the z-axis, it makes a solid.

Sketch the region.
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compute the volume of the solid below, showing your work.
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Quiz 1 Math 34 (Cale II), Spring 2013

Consider the region bounded by y = 3 cos z and the x-axis, for
—m/2 < z < w/2. When revolved around the z-axis, it makes a solid.
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Sketch the region.
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disks / washers / shells z/y

compute the volume of the solid below, showing vour work.
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